	Budgeted Amount	-					pened by abulated by		S A Kent T Cooper			Bid #: Date:
DIVISI Engine	ONS/DEPARTEMENT:	Asphalt Prod	Jucers	DumeyCont	racting	Richard Bau	ghn truction	Wesdows	ractors			
	NOTE: No award will be made at bid opening - all l	olds will be ev	aluated in the	coming days								
Item	Quan Description	Unit	Amount	Unit	Amount	Unit	Amount	Unit	Amount	Unit Amount	U	Init Amount
1 2 3 4	5 Site Clearing & Grubbing 30 Removal & Disposal of 60" CMP 10 Removing & Replacing Base Course & Asphalt Surfacing 445 Fences Removed and Reconstructed	2,600.00 40.00 40.00 8.00	\$13,000.00 \$1,200.00 \$400.00 \$3,560.00	3,200.00 30.00 150.00 8.00	\$16,000.00 \$900.00 \$1,500.00 \$3,560.00	5,000.00 50.00 150.00 9.00	\$25,000.00 \$1,500.00 \$1,500.00 \$4,005.00	2,200.00 25.00 160.00 7.00	\$11,000.00 \$750.00 \$1,600.00 \$3,115.00	\$0.0 \$0.0 \$0.0 \$0.0		\$0.00 \$0.00 \$0.00 \$0.00
5	1 Gate Removed and Reconstructed	1,250.00	\$1,250.00	\$500.00	\$500.00 \$500.00	350.00	\$350.00	300.00	\$300.00	\$0.0		\$0.00
6 7	7,950 Compacted Embankment 5,236 Aggregate Base Course (Class 7)	9.80 21.50	\$77,910.00 \$112,574.00	\$12.50 \$18.10	\$99,375.00 \$94,771.60	12.00 \$27.46	\$95,400.00 \$143,780.56	\$8.00 \$21.00	\$63,600.00 \$109,956.00	\$0.0 \$0.0		\$0.00 \$0.00
8	1,726 Asphalt Binder (PG 64-22) Course (3" Thickness)	67.00	\$115,642.00			\$83.00	\$143,258.00	\$87.00	\$150,162.00	\$0.0		\$0.00
9 10	1,151 Asphalt Surface (PG 64-22) Course (2" Thickness) 1 Mobilization	68.25 8,500.00	\$78,555.75 \$8,500.00	\$81.00 \$29,900.00	\$93,231.00 \$29,900.00	\$84.50 \$5,000.00	\$97,259.50 \$5,000.00	\$90.00 \$10,000.00	\$103,590.00 \$10,000.00	\$0.0 \$0.0		\$0.00 \$0.00
11	126 18" Class III RCP	92.00	\$8,500.00 \$11,592.00	\$29,900.00 \$42.00	\$29,900.00 \$5,292.00	\$3,000.00	\$5,000.00 \$4,032.00	\$10,000.00	\$4,536.00	\$0.0		\$0.00 \$0.00
12	92 24" Class III RCP	102.00	\$9,384.00	\$48.00	\$4,416.00	\$38.00	\$3,496.00	\$45.00	\$4,140.00	\$0.0		\$0.00
13	130 30" Class III RCP	114.00	\$14,820.00	\$65.00	\$8,450.00	\$59.00	\$7,670.00	\$61.00	\$7,930.00	\$0.0		\$0.00
14	61 14"x23" Class III Horizontal Ellipitical Concrete Pipe	104.00	\$6,344.00	\$50.00	\$3,050.00	\$46.00	\$2,806.00	\$51.00	\$3,111.00	\$0.0		\$0.00
15	52 Twin 8'x4' Box Culvert	365.00	\$18,980.00	\$850.00	\$44,200.00	\$1,600.00	\$83,200.00	\$785.00	\$40,820.00	\$0.0)	\$0.00
16	6 Drop Inlet (Curb Inlet "A")	2,500.00	\$15,000.00	\$3,500.00	\$21,000.00	\$3,350.00	\$20,100.00	\$3,208.00	\$19,248.00	\$0.0)	\$0.00
17	3,620 Silt Fence	2.50	\$9,050.00	\$3.00	\$10,860.00	\$2.00	\$7,240.00	\$2.30	\$8,326.00	\$0.0)	\$0.00
18	9,290 Solid Sodding	4.25	\$39,482.50	\$5.00	\$46,450.00	\$3.75	\$34,837.50	\$4.30	\$39,947.00	\$0.0)	\$0.00
19	140 Geotextile Fabric (Type 5)	3.40	\$476.00	\$2.00	\$280.00	\$5.00	\$700.00	\$3.00	\$420.00	\$0.0)	\$0.00
20	6,650 Combination Curb & Gutter	14.50	\$96,425.00	\$23.00	\$152,950.00	\$13.50	\$89,775.00	\$14.00	\$93,100.00	\$0.0)	\$0.00
21	6,280 Thermoplastic Pavement Marking Yellow (4")	1.15	\$7,222.00	\$1.25	\$7,850.00	\$2.29	\$14,381.20	\$1.10	\$6,908.00	\$0.0)	\$0.00
22	4 Standard Sign (R1-1 & R1-4)	325.00	\$1,300.00	\$400.00	\$1,600.00	\$500.00	\$2,000.00	\$225.00	\$900.00	\$0.0)	\$0.00
23	1 Standard Sign (W1-1L)	325.00	\$325.00	\$400.00	\$400.00	\$500.00	\$500.00	\$200.00	\$200.00	\$0.0)	\$0.00
24	1 Standard Sign (W1-1R)	325.00	\$325.00	\$400.00	\$400.00	\$500.00	\$500.00	\$200.00	\$200.00	\$0.0)	\$0.00
25	1 Construction Layout	20,000.00	\$20,000.00	\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00	\$3,600.00	\$3,600.00	\$0.0)	\$0.00
26	1 Construction Testing	15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$1,500.00	\$1,500.00	\$0.0)	\$0.00
27	1 Stabilized Construction Access	2,400.00	\$2,400.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00	\$0.0)	\$0.00
25	1 Concrete Washout Area	1,500.00	\$1,500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$0.0)	\$0.00
29	6 Curb Inlet Sediment Barriers	162.00	\$972.00	\$200.00	\$1,200.00	\$200.00	\$1,200.00	\$165.00	\$990.00	\$0.0)	\$0.00
30	10 Curb Opening & Concrete Flume	1,000.00	\$10,000.00	\$2,200.00	\$22,000.00	\$750.00	\$7,500.00	\$600.00	\$6,000.00	\$0.0		\$0.00
31	3 Type B Headwall (18")	600.00	\$1,800.00	\$750.00	\$2,250.00	\$400.00	\$1,200.00	\$500.00	\$1,500.00	\$0.0		\$0.00
32	1 Type B Headwall (30")	800.00	\$800.00	\$1,200.00	\$1,200.00	\$700.00	\$700.00	\$636.00	\$636.00	\$0.0		\$0.00

33 2 Type B Headwall (Special - 15" Vertical/24" Horizontal)	600.00	\$1,200.00	\$900.00	\$1,800.00	\$350.00	\$700.00	\$490.00	\$980.00	\$0.00	\$0.00
34 1 Type D Headwall (18")	2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$2,250.00	\$2,250.00	\$1,755.00	\$1,755.00	\$0.00	\$0.00
35 1 Type D Headwall (24")	2,600.00	\$2,600.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,414.00	\$2,414.00	\$0.00	\$0.00
36 2 Type D Headwall (30")	3,400.00	\$6,800.00	\$3,850.00	\$7,700.00	\$3,750.00	\$7,500.00	\$3,275.00	\$6,550.00	\$0.00	\$0.00
37 4 Box Culvert Wingwalls	1,400.00	\$5,600.00	\$3,000.00	\$12,000.00	\$10,000.00	\$40,000.00	\$3,000.00	\$12,000.00	\$0.00	\$0.00
38 550 Rip-Rap	40.00	\$22,000.00	\$25.00	\$13,750.00	\$28.00	\$15,400.00	\$30.00	\$16,500.00	\$0.00	\$0.00
39 410 Pegged Sod	4.50	\$1,845.00	\$10.00	\$4,100.00	\$4.00	\$1,640.00	\$6.00	\$2,460.00	\$0.00	\$0.00
Total Base Bid		\$737,834.25		\$875,789.60		\$880,380.76		\$743,644.00	\$0.00	\$0.00
1 1,900 Undercut	6.00	\$11,400.00	\$6.75	\$12,825.00	\$12.00	\$22,800.00	\$5.00	\$9,500.00	\$0.00	\$0.00
2 4,000 Stone Backfill (For Undercut Replacement)	18.50	\$74,000.00	\$20.00	\$80,000.00	\$26.00	\$104,000.00	\$24.00	\$96,000.00	\$0.00	\$0.00
3 3,800 Geotextile Fabric (Type 8)	3.50	\$13,300.00	\$1.40	\$5,320.00	\$1.15	\$4,370.00	\$1.75	\$6,650.00	\$0.00	\$0.00
Total Allowance Bid		\$98,700.00		\$98,145.00		\$131,170.00		\$112,150.00	\$0.00	\$0.00
Addenum 1 and 2	Yes		`	Yes	Y	es		Yes		
Signed	Yes		`	Yes	Y	es		Yes		
Statement of Bidders Qualifications	Yes		`\	Yes	Y	es		Yes		
Suspension & Debarment	No		`	Yes	N	0		Yes		
Statement of Assurance and Compliance	No		```````````````````````````````````````	Yes	N	0				

Unit Amount \$0.00 \$0.00 \$0.00 <th></th> <th>2018:27 05/29/18</th> <th></th> <th></th>		2018:27 05/29/18		
\$0.00 \$0.00		00,20,10		
\$0.00 \$0.00	_			
\$0.00 \$0.00				
\$0.00 \$0.00	_	Unit	Amount	_
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00				
\$0.00 \$0.00 \$0.00 \$0.00			\$0.00	
\$0.00 \$0.00 \$0.00				
\$0.00 \$0.00				
\$0.00			\$0.00	
			\$0.00	

\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 **\$0.00** \$0.00 \$0.00 \$0.00 **\$0.00**